)ff?‘ii\ B Eom(2) ETE -3 % (D) (sin30° ,log; 32) = G , YR A, 10><\E¢5 , R1Eb = 10va t
B 1~4 1 m HE Ba:

(E)(272,logi—) = (*,5), 10X |~=10x~=5, b = 10Va .t HIZ(D)

2. (E) 3.| (D 4. (c)(D) 5. (A)B)(E) ( 232) * \ﬁ :

6. (A)D)E) 7. —27 8| = 9, 2,2 10/ (-2,3) — S EEIEEE (#3558 4H)

13,4 12/ (1.2) 1352 — 5 — 2 14)5.6% ABREZEAS(x) =ax® + bx? +cx +d(a # 0) , BITHIGRL R ?
(A Ea, FAHEE , BaBlpzBFEEf(x) =028 , Blf()f(B) <0

(B)&2 +V3Hf(x) = 0 —1& , Bl2 — V3R Bf(x) = 0Z1R
(C)V&fQ2+3i)=5-6i, Blf(2—-3i) =5+ 6i
, _ - ) D) f(x) = 0EHH—ER

Lk REH Bk +3)x*—4x+k=0EMER , Al K BLEER ? EFBRf() = X IE—ER,

@ (A WEE, HFER) =08 2R, B (@)f () > 0

— EB—#EE (H38E 8L HD)

(A4 (B)5 (C)6 (D)7 (E)8.
(B) ; BEREAENTHIL
@ $BIHKD = 16 — 4k(k +3) = 0

= k¥43k—-4<0 = (k+4)(k—1)§0 = —4<k<1 (C) ,f(2+3l)=5—6l = f(2—3i)=f(2+3l)=5—6l=5+6i
k=-4,-3,-2,-1,0,1, Bk # -3 (&k=-3, FRAR-HR) (0) ; BRESEXERRY  M=KHRAZIE-ER
HOR R0 k 3£ 5 18

E) ;f=x* = fl)-x*=0A=ZRARR K HELE—BR
2.7A T E R — B2 R 2 IR 2

(A)37 < 73 (B) 50 < 105 (C) 2190 < 1030 HEOD)
(D)log,3 =15 (E) log, 11 < 3.5,
@ (A) ;37 =2187, 73 =343 , fE37 > 734 s E—EE&R, AR tARER  BEREFEM, &

(B) ;.52>10 (5% >105F% REEHEEENERAHYEEY =log,(x+b), HE

(C) ; log(21°) = 100log2 = 100 x 0.3010 = 30.1 > 30 .21°° > 1030 ¥ BERNA  ABATISRERLERE ?

oes oarm (A)EZa =2

(D) ;log,3 = Togz = 03010 > 1.5 B)b =1

(E) ;3.5 =10g,(2%°) = log,(8V2) = log,(8 x 1.414) = log,(11.312) > log, 11 (C)gﬂ?'ﬂﬂﬁﬁ@fﬁ ) ZERBETEI LR

HE(E) D)ESHEREAW R S HEEBEAW, R AIFEM ARBESTEE (W, +w,y)

3.%% (loga ,log)EEMRy = 1x + 1E2B% , AT HIW—HRY(a,b)FER % \ \

_EEE 2 (BE)E 3 XRBE 7 RBEEMWFHIREE , KR%E 1 XEFE 15 RWFHEE,
(A) (1,10) (B) (3,10V3) (©) (4, 20) (A)B)x =080 =1log, b h=1,fAx=181=1log,(1+1) .a=2,(ABHE

_ ~ 1 (C)14 REMBE Ay = log,(14+ 1) <log, 16 = 4 ~F&
(D) (sin30° ,log, 32)  (E) (272,log: )° ’ ’
2
(D) w, =log,(5+1) =log, 6, w, =log,(8+ 1) =log,9
logbZ%loga+1=10g\/5+10g10210g10\/5 = b=10Va ' ’ ’ ’ ’ ’
“w; +w, = log, 6 +log, 9 = log, 54 = log,(53 + 1) .~JFEA 53X
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3-2

4
4—

wy—w3 _ log; 8—logy 4
(E) 7-3 4 -

wis—wy _ logy 16-logy 2
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1

1

A
, A

A
>
28 2

CE(A)B)E)

6.BBf(x) = a+log, xHUEREEN TR , BITHEEBL ERE?

(AVa=3 (B)b=4 (C)ym =2 D)m+nBEE (E)log, m = 0,
@ a+log,025=m = a-2log,2=m...Q) « 0251 2 4 3
a+log,4=6—-m = a+2log,2=6-m...2 f(x) m n | 6-mj|n+2

a+log,2=n...
a+logy,8=n+2 = a+3log,2=n+2...

D+® = 2a=6 = a=3,

= 2logy2=2 = log,2=1 = b=2

m=a—2log,2=3-2log,2=1, n=a+log,2=3+log,2=4

x=2+4+i = (x-2?%=i,8Bx>-4x+5=0

fO) =2 —4x+5)(x*—x—6) x?—4x+5HEIE
f(x) < OBV RENX? — x — 6 < OBV iR

x+2)(x-3)<0 = -2<x<3, WEH@,p)=(-2,3)

11.% D %7EAABCHBC E BAABDE M= 2AABCEM , EBH4LBAH (6,7), CHLER
(1,2), BIDWAES 0

A
AABDTEI®& : AADCTI=3:2=BD : DC "g
HisTBEATE D B (22 2 = 3,4) S

12abBEBE, f(x) =a(x? +2x +4)? + 3a(x? + 2x + 4) + PEER/ME 20, Bf (-2) = 30,

A (B () O ;m+n=5KREH (E) ;log,m=log,1=0 RIS (a,b) = .
SEAONE) @ Ft=x*+2x+4=(x+1)?+3 = t>3
1-1-6 o 3 3)2 P o .
— \ JE7REE (48 g 1-4+5)1-5+3 +19-30 f(x) =at +3at+b—a(t+2) +h—-a "EHBAERME20 a>0
— ~ " 5 1-4 +5
= R RO B A5 —1-2+19 Et=3K, 9%a+9%+bh=20 = 18a+b=20
TE&f(x) =ax*—bx*+2x-5, Bf(7) =1, Blf(-7) = . _-l+4-5
f) () f(=7) ~6 +24-30 f(-2)=16a+12a+b=30 = 28a+b=30 . a=1,b=2, HEH@,b) =(1,2)
@ f(H=7"a-7"b+14-5=1 = 7*a—-7*h=-8 —6+24_38

f7)=ND*a-(-7)?*b—-14—-5= (7*a—7*b) =19 = -8 — 19 = =27

8.logs x + logs(x2 —6) =1, Alx = o
14v21

@ logsx(x*—6)=1 = x*—-6x-5=0 = (x+1Dx*-x-5=0 = x=-15 .

1+v21
2

BERAR/ER , B =

9a, b BEBE , B(a+3i))(3-bi)=12+5i, BI&H(a,b) =

o
@ 3a—abi+9i+3b=12+5i = (Ba+3b)+(9—ab)i=12+5i = a+b=4Hab=4

= ald—-a)=4 = a*—-4a+4=0 = (@-2)*=0 = a=2,b=2

10 EMBERERR () = x* —5x3 + 322+ 19x — 30 = OB —EBHH2 + i, EEB a R
Bf(@)<0,&Ea<a<p, MEH@,p) =

o

13.EHZERf(x)BREAx? — 2xB8RNABx — 2, Bx + 1B )NER |, Blf(x)BREA

x(x +1)(x - 2)HEER B 0
f)=@?-20)0x) +x—2=x(x—-2)[(x+ Dgx) + a] + (x — 2)

=x(x—-2)(x+Dglx)+ax(x—2)+x—-2

T+ 1RfORER = f(-1)=0 = 3a-1-2=0 = a=1

FR&GBXBrx(x-2D+x-2=x2-2x+x-2=x*—-x—-2

MWERFRTERHRBMBREK , REELFRBLAXF_SURIRERSBRIHK
BH 75%, NAFEBFREENLER (EFNI—FHHRENL ) BFRD Sk
NEERE, FEEINERER, IRLABFELELT —FRD % =1Lk
WEE, (FTEINHRE—{f, ATHEEREA)

0
9685

X
93

1
9689

2
9694

3
9699

4
9703

5
9708

6
9713

7
9717

8
9722

9
9727
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94 9731 9736 9741 9745 9750 | 9754 9759 9763 9768 9773

95 9777 9782 9786 9791 9795 | 9800 9805 9809 9814 9818
96 0823 9827 9832 9836 9841 | 9845 9850 9854 9859 9863

RATREx% , REFHRER K k(1 -2%)°=k-0.75= Zk B — X% = iE

filog \E = -log= = = (log3 — 2log 2) = = (0.4771 — 2 X 0.3010) = = (0.1249)
= —0.02498 = —1 + 097502 «<REK

1
= logm +10g9.44 = log 0.944

1 —x% = 0944 , Bx% =1-0.944 = 5.6%
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